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The value of cars in a used car garage 
are recorded below.
The scatter graph show

s this inform
ation.

The next car that arrives is 6 years old.
Estim

ate the value of the car.

The value of cars in a used car garage 
are recorded below.
The scatter graph show

s this inform
ation.

A car has a value of £2500.
Estim

ate the age of the car.

Solve

W
rite dow

n the equation of the line that 
is parallel to y = 6x + 1 and passes 
through (0, 8).

N
am

e: ______________                                    5-a-day                                      Foundation Plus
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